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Last week’s problem containing 6 Black pawns ready to queen is capped by this week’s by Kovacs with all 8 Black pawns one move from queening.  Nevertheless White can mate in two:
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The problem fits in well with today’s game which features a mass of extra pawns battling against a superior force of pieces.  The game gained the two players a share of the Best Game Prize in the 2007 Gibraltar Open (reported on last week):



Alain Dekker   -   Iweta  Rajlich



2007  Gibraltar  Open



French: Winawer Variation



 1     e4  
e6  


 2     d4  
d5



 3     Nc3  
Bb4 


 4     e5  
c5



 5     a3  
Bxc3+ 


 6     bxc3  
Nc6(a)


 7     Qg4  
g6 


 8     Bd3  
Qa5



 9     Bd2  
c4  


10    Be2  
Bd7



11    Nh3  
0-0-0  


12    0-0  
f5



13    Qh4  
h6 


14    Rfd1  
Nge7



15    f4  
g5!  


16    Qe1(b)  
Rdg8



17    a4  
Ng6 


18    Rdb1 
Nd8


19    Rb4  
Nf7 


20    Bh5  
Rg7



21    Kh1  
Bc6  


22    Qd1  
Qd8



23    a5  
g4  


24    Ng1  
Qh4(c)


25    Bxg6  
Rxg6 


26    a6  
b6



27    Ne2  
g3  


28    h3  
Ng5!



29    fxg5  
hxg5 


30    Qe1(d)  
f4



31    Qf1  
Qg4 


32    Ng1         Rgh6



33    Qf3
Rxh3+! 

34    Nxh3  
Rxh3+



35    Kg1  
Qxf3  


36    gxf3  
Rh2



37    Be1  
Kc7 


38    Rd1  
Rxc2



39    Rbb1 
Be8 


40    Bd2  
Bh5(e)


41    Rbc1  
Rb2 


42    Rb1 
Ra2



43    Ra1  
Rxd2!(f) 

44    Rxd2 
Bxf3



45    Raa2 
b5  


46    Rdb2  
Kb6



47    Rb4  
Be4 


48    Rab2  
f3

49    Rxb5+ 
Kxa6 


50    Rb8 
f2+

51    Rxf2(g) 

a) A move that doesn’t even get a mention in Nunn’s Chess Openings or MCO.
b) 16 fxg, hxg  17 Qxg5? Rxh3!  18 gxh3, Rg8 wins.  Black now leaves White opportunities to win a pawn in exchange for open lines – offers White declines.

c) Black could play the coming sacrifice now – 24…Ng5!  eg 25 fxg5, hxg5  26 Bxg6, Rxg6  27 a6, b6  28 Qf1, Qe7  29 Re1, Qh7  30 h3, f4! with a strong attack. 

d) Waste of tempo – White should play 30 Kg1.

e)  40…Bg6! enables Black to keep his rook and maintain winning chances.

f) White’s rooks can only wait and hope a Black advance on the queenside will give opportunities to open up the position. 

g) The game now fizzles out to a draw: 51…gxf2+  52 Kxf2, Bf5  53 Kg3, Ka5  54 Rb4, Ka6 55 Kf3, Ka5  56 Rb7, Ka6  57 Rb8, Ka5  58 Rb4, Ka6 59 Ke3,  Ka5  60 Rb7, Ka6  61 Rg7, g4  62 Kd2, Kb6  63 Kc1, a6  64 Kb2, Kb5  65 Ka3, Ka5  66 Rb7, Be4  67 Rg7, Bf5  60 Rg8, Kb5  61 Rb8+, Ka5  62 Rg8, Kb5 Draw.  More interesting would have been 51 Kf1 but Black can still draw with 51…Bd3+  52 Re2, g2+  53 Kxg2, Bxe2  54 Kxf2, Bd3.  A possible continuation is 55 Rg8, Kb5  56 Ke3 (56 Rxg5, Ka4  57 Rg7, Kb3 =) 56…a5  57 Rxg5, Ka4  58 Rg7, Kb3  59 Kd2, a4  60 Rb7+, Ka2  61 Kc1, a3  62 Re7, Kb3  63 Rxe6, Kxc3  64 Ra6, Kb3  65 e6, a2  66 e7, Bg6!  67 Ra8, c3  68 Ra6, Bh5  69 Rb6+, Kc4  70 Ra6, Kb3=.   
SOLUTION:  1 Nc6: now if any pawn queens the bishop can move, delivering discovered check by the rook while preventing the queen from stopping mate: eg 1…a1=Q  2 Ba6#  or 1…h1=Q+  2 Bh3# or 1…d1=Q  2 Bd7#: finally if 1…Kg8  2 Be6#.

